Oskar Rieding

Concerto in E Minor

Op. 35

for

Viola & Piano

Transcribed from Violin
Concerto in b Minor
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Concerto in E Minor

Viola & Piano
Allegro moderato @ —_ . Oskar Rieding Op. 35
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Allegro moderato

P 4
4 o~
5 4 A efr ere oo oo
v AN ] | — |
:‘} \ WA I |
mf° Stay in upper 1/2 of bow.
=~ 4 3 >
o o —~ — — ] ol
; ﬁ’ r Q’f— - —Q:Q_/?
| — 7
vV =
4 . 3' .F. A
L, T r T .
I =
> = S
S
y ﬁ? '!P Q‘P‘r_ oy o '_/._,‘ s e ® Q‘P‘p_
5 ' | i
o) f
mf
e £ > :
Lk T
f == : i - —
>
~ >
Loo) o ) o0 ~ >
JLETePefee,rtr £o, =
% ] ] ] ’/
]
————
4 >/\ o) N >A N\~
i o piee o Lreos, e, |
2 %. [ — I_ll — Ib—l ‘
J i
2z ﬂ.o_ * o ]

m=

mf° espressivo

5

m=




Ve |4,

e

>
. 4

C

V-~ =V

a tempo

Y

33

=><

J

prelPoe

38

L/

1@

' AN 1 =
J

o)
Y J

40

>4

Y

N\

o

ire

T

y
=~
#‘r

>

Wi

Y J
o)
Y

52




Meno MOSSOo

L

— -
mf’ espressivo

57

TR
1
@ g }-
(I
Tl ('
\ | >n,L
N A RN
L 1N
q
R
y Wl
o M
= "Nl (18
, o
T A i
(%
[ 1] (
) (| <
—. \ f>1. i
{ , ﬁ
L il
4 e
= = uy n\/f_u__ﬂﬂ
o T 8‘.. TR 3‘.Jh..,

L
o) L

2=

o2 _

e

=
tre

:1'.9_.".‘\%
n

o2

o)
v J
Y
Y

14 ]

Y

82

—_ f

‘P

4

84

oo

Erepes

o2 0

86

oo

Erepes

o2 0

Y
Y

88

CYe

=

o)

- o

o o

v
S

90




